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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Ist Semester Examination, 2020, held in 2021

ECOACORO01T-EconoMmiIcs (CC1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T IMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions: 2x5=10
@I A5G @ree Ted mies

(a) Graphically explain the effect on equilibrium price and quantity of hotel rooms in
Goa when continuous disruption of flights causes travellers to shy away from air
travel.

e TN+ rare R ot 1w e gt Seig 2|, $E@ e
(RCEE 9K SRA 7N @« i 2ei #iv@ ot @ifbcad AR e |

(b) If the equation of the Engel curve is given by ¢ = M?, where ¢ is quantity and M
is money income, find out the income elasticity of demand for the commodity.
(I arest @R e AW g = M2 7, ¢ T SRS € M SR, OF qiha SRere
RSSO R DEACKS

(c) Define ‘isoclines’.

ECNFIRCA TR WG |

(d) Define expansion path.
TP (I e 7S |

(e) What is the shape of average fixed cost curve?
9% T2 8 @I IR ol 27 9

(f) If demand is unit elastic how will a decline in price affect total revenue?
I ifEnl < o 7F T, O @G SR Bl 7 2 & 2Ok 71U 9

(g) Calculate the elasticity of supply for the supply curve P=10+30Q at P = 25,
P and Q represent price and quantity respectively.

P =10+30 Q@1 @ifocs, P =25 [ee @it Rfogerer s ff st

(h) In a two commodity space draw the budget line of a consumer where one
commodity is rationed so that no more than a specific amount of it can be
purchased.
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2. Answer any four questions: 5x4 =20
CA-(ICA BIATE @leael Tae wies
(a) Find the value of elasticity of substitution for CES production function.

CES Teoiive Sorsad CFed Reamce Rfemeieor v @@ et

(b) Constant return to scale may co-exist with diminishing return to variable
factor — Explain.

TR efSnitad Tal @ TR 2ifes Teoima [iY @Feaie AFce #AiE — il
I

(c) How is the curvature of an isoquant related to the marginal rate of technical
substitution?
AW @R ITFo! FOI aFHes 2ifes »Rrewi 2= M I& ¢

(d) “If prices of two inputs are equal they should be used in equal amounts”. Is the
proposition correct? Justify your answer.

TAMC 76 TRMICTT W F 2T OIend Al Afsiee g w1 28 et &
133 9 3fe fwcm =11

(¢) Suppose the total cost function is given by C =16+ Q?. Illustrate the shape of the
average and marginal cost curves in a diagram.
N ! @G I SCHSO 261 C =16+ 0% | @36 @@ AR 7C 3 ¢ elifes
[T TSR WFhs T T

(f) Construct a set of indifference curve in each of the following cases:
fafeie e qitte Maeme @ar sighe @ww 2@ ¢
(1) The person likes X but neutral about Y.
@I e X oiew 36 o ¥ @ afe Faeers
(i) The consumer likes both X and Y but believes that beyond 6 units of X a day,
X is bad and beyond 4 units of Y a day, Y is bad.
(O X @R ¥ qUBIE *lew 33 5% ey 6 T X @3 @ X @k 4 Tx @ Y sz

I
3. Answer any two questions: 10x2 =20
- 715 elvas Tee mies
(a) Let the utility function be u = xy, and the budget line is M = P.x+P,.y . 5+5

@1 AT T AT T 0 = xy IR A @A M = P.x+P,.y |

(1) Derive the optimum values of X and Y.
X @R Y G300 N9 5 9

(i) Show that the sum of price elasticity, cross price elasticity and income
elasticity of demand equal to zero.

A8 @ BifzniF s were fEfsgeme, #iaifts nivre ool i S
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(b) (i) Define homogeneous function.

(ii)

(ii)

() (1)

(ii)

(d) (@)

1010

(ii)

N.B.

TGS G SR IS WG |
Show that ¢ = 4 L* K” is a homogeneous function.
MAS @ g=A L% KP Solb QP HeGIS I S5 |

Discuss the properties of Cobb-Douglas production function.
F-ToETI B SR (187 et SCaTdal el |

Left and right shoes are perfect complements. Draw the appropriate price
consumption and income consumption curve.

3N 2R TSl GR T AR gret 94 #{fis7 | e v e ol @
AR I HCHFF (19T (I OF FCA N

State and explain the Slutsky decomposition of price effect into income
effect and substitution effect.

A% e 7 2o W eor a3k 2 eeiEa W [ivermaes @b @l
AR IR RN

Define ‘consumers surplus’ and show it graphically.

‘(OISR U@’ @3 S| WIS UK B GiF (M€ |

Distinguish between ordinary demand curve and compensated demand
curve.

HllRel Bifent @2 @R FosFF vifenl @R [y« mare |

: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to

their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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